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SHARP 1403H TI-85 (TI-86)

Binomialverteilung

1∅∅∅ ″ B″ INPUT ″BI(nom): g–∅    G–1 ″;Q
1∅ 1∅ INPUT ″Umfang n= ″;N
1∅ 2∅ INPUT ″Wahrschein. p= ″;P
1∅ 3∅ INPUT ″Erfolge k= ″;X
1∅ 4∅ IF X=N AND Q LET BI=1: GOTO 113∅
1∅ 5∅ U=X:V=1−P:W=∅ :J=(2*X<N):BI=(V^N=∅ )
1∅ 6∅ IFJ=∅  ANDP^N>∅  OR BI LET U=N–(X+Q)*(1– Q*J):

V=P:W=Q*(1–J*BI)
1∅ 7∅ BI=(–1)^W*V^N:IF U=∅  THEN 112∅
1∅ 8∅ FOR I=1 TO U
1∅ 9∅ IF Q AND (U–X)*J<I LET W=W+BI
11∅∅ BI=BI*(N*1–I)*(1–V)/I/V
111∅ NEXT I
112∅ BI=BI*W
113∅ PRINT ″BI=″;BI:GOTO 1∅∅∅

Binomialverteilung

PROGRAMM:BINOM
: ClLCD
: Input ″g–∅     G–1 : ″,Q
: Input ″Umfang n= ″,N
: Input ″Wahrschein. p= ″,P
: Input ″Erfolge k= ″,X
: If Q==∅
: Then
: N nCr X*P^X*(1–P)^(N–X)→BI
: Else
: sum seq(N nCr I*P^I(1–P)^(N–I),I, ∅ ,X,1)→BI
: End
: Disp ″BI=″,BI

POISSON-Verteilung

115∅ ″ N″ INPUT ″PO(isson): g–∅    G–1 ″;Q
116∅ INPUT ″Mittelwert my= ″;MY
117∅ INPUT ″Anzahl k= ″;X
118∅ PO=∅
119∅ FOR I=(1–Q)*X TO X
12∅∅ W=1:IF I=∅  THEN 124∅
121∅ FOR J=1 TO I
122∅ W=W*MY/J
123∅ NEXT J
124∅ PO=PO+W/EXP MY
125∅ NEXT I
126∅ PRINT ″PO=″;PO:GOTO 115∅

Poisson-Verteilung

PROGRAMM:POISSON
: ClLCD
: Input ″g–∅     G–1 : ″,Q
: Input ″Mittelwert my= ″,MY
: Input ″Anzahl k= ″,x
: If Q==∅
: Then
: MY^x/x!/e^MY→PO
: Else
: sum seq(MY^I/I!/e^MY,I, ∅ ,x,1)→PO
: End
: Disp ″PO=″,PO

Zum Testen:

Binomialverteilung: 6,0;7 == pn      290304,0)4( ≈=XP        580096,0)4( ≈≤XP

POISSON-Verteilung: 7,2=µ 148816,0)4( ≈=XP 862908,0)4( ≈≤XP


